;> with(LinearAlgebra):
> A:=Matrix([[O0,1,0,1],[1,0,2,1],[0,2,0,0],[1,1,0,011):
(01 0 1]
' 1 0 2 1
=10 200 @
1 100
> AN2;
(21 21
1 6 01
2 0 4 2 @)
112 2
> AN3; _
2 7 2 3|
7 2 12 7
2 12 0 2 ®)
37 2 2
> M:=(ldentityMatrix(4)-x*A)~(-1);
55— 1 X 25
M’:H_ 4 3 2 >3 2 >3 2 ) (4)
4x —2x —T7x +1 4x —6x —x+1 4x —6x —x+1
_ x(4x2—x—1)
4xt =2 -7 41
X ~ x—1 B 2x(x—1) X
48 =6 —x+1 4 -6 —x+1 4xXx =6 —x+1 4 -6 —x+1
25 _ 2x(x—1) C2x—1) (x+1) 25
4 =6 —x+1 4 —6x—x+1 44X —6x"—x+1 4xXx -6 —x+1
B x(4x2—x—1) X 2%
[ 4x =2 =7 +1 4 -6 —x+1 4 -6 —x+1
~ Sx —1
i 4x4—2x3—7x2+lll
> di=4*xM - 2*X"N3 - T*X"N2 + 1;
i d=4x'—2x -7 +1 (5)
> simplify(M*d);




-5 +1 x(x+1) 2x2(x—|-1) 4+ +x
x(x+1) -+ 2 +2x x(x+1)
2 (x+1)  —2X+42x -2 =3 +1 2 (x+1)

A+ +x x(x+1) 2x2(x+1) S5+ 1
> w:=M[1,3];

25
48 -6 —x+1

w =

> series(w,x=0);
i 2422 + 14X +18x° +0(x°)
> series(w,x=0,50);
242 +14x +18x° +942° + 146 x” + 638 x° + 1138 x° + 4382 x'% 4 8658 x!"
+30398 x'? + 64818 x'° + 212574 x'* + 479890 x'° + 1496062 x'® + 3525106 x'”
+ 10581918 x'® + 25748306 x'° + 75139390 x*° + 187301554 x*' + 535144670 x**
+ 1358396434 x> + 3820058238 x** + 9829858162 x*> + 27316621854 x*°
+ 71015537874 x*7 + 195595836350 x°° + 512422576178 x> + 1401935442782 x°°
+ 3694087554450 ' + 10056009906430 x*> + 26612793462002 ™
+72172502682782 x** + 191625223829074 x°> + 518209066077758 x°¢
+ 1379270398321074 x°7 + 3722023899471326 x°° + 9924810025086738 x°°
+26739871828630398 x™ + 71400636381265522 x*! + 192140627252700958 x**
+ 513584958225772498 x* + 1380826176216916158 x** + 3693773416560747314 x*
+9924390640959154270 x*® + 26563726435455973522 x*’
+ 71334976614967909886 x** + 191019772663867133938 x* + 0(x°°)
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